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SI Physics


     
Momentum Review #2 [15 pts]

Period: ______



Mrs. Nadworny
Momentum Review #2
Directions – Read the following pages and answer the questions specified. Write the number of your selected answer. 
On p. 46 answer the following questions. 
7.  ________

16. ________


49. [1 pt] 

60. [2 pts]
61. [1 pt] _______________________

Answer the following questions. 

1. Calculate the magnitude of the impulse applied to a 0.75 kilogram cart to change its velocity from 0.50 meters per second east to 2.00 meters per second east.  [2 pts]
2. A 3.1 kilogram gun initially at rest is free to move. When a 0.015 kilogram bullet leaves the gun with a speed of 500 meters per second, what is the speed of the gun?  [2 pts]
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3. A 1200 kilogram car moving at 12 meters per second collides with a 2300 kilogram car that is waiting at rest at a traffic light. After the collision, the cars lock together and slide. Eventually the combined cars are brought to rest by a force of kinetic friction as the rubber tries slide across the dry, level asphalt road surface. Calculate the speed of the locked together cars immediately after the collision.   [2 pts]
4. A student pushes a red car, with a mass of 0.355 kg along the track with a velocity of 0.095 m/s right. It collides with the blue car, which has a mass of 0.710 kg and was also moving right with a speed of 0.045 m/s. After the collision, the red car continues in the same direction at 0.035 m/s. Calculate the speed of the blue car after the collision. [2 pts]
5. A 2.0 kilogram cart moving due east at 6.0 meters per second collides with a 3.0 kilogram cart moving due west. The carts stick together and come to rest after the collision. What was the initial speed of the 3.0 kilogram cart? [2 pts]
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